TEKNIK BILGILER
TECHNICAL INFORMATION

Matkabinizi CNC torna tezgahina baglamadan énce taretin merkezden kagik olup olmadigini kontrol etmeniz gerekir.
Sayet taretinizde kaciklik varsa, takma uclu matkabinizi kesinlikle kullanmayiniz. Taretin dlizeltilmesi icin yapilmasi gereken
islemler;

1. Taretin tutucusuna kullanacaginiz takma uclu matkabin capinda ve boyunda (zeri hassas olan silindirik bir parca
baglanir ve tazgahin X degeri sifira getirilir.

2. Tezgahin aynasina miknatisl komprotor saati yerlestirilir. Saatin ug kismi tarete baglamis oldugumuz parcanin
Ustline temas ettirilir.

3. Aynanin (zerine baglamis oldugumuz miknatish komprotér ayna ile beraber 360 derece dondtrilerek saatteki
degisim oranina gore taretin sifirlanmasi saglanr.

Grup No. Malzemenin Cinsi Malzemenin Oz. Kesme Hizi Vc (m/dk)
1 Cok Yumusak is Celikleri (1010, Otomat vb. 220
2 imalat Celik ve Dékiim Malz. C1030 - 106 vb. 200
3 Takim ve imalat Cesitleri (CK-45,4140, 7131 vb. 170
4 Sicak Is ve Paslanmaz Celikler impaks vb. 150

Devir hesabi yapabilmek icin 6nce malzemeyi seciniz. Sectiginiz malzemenin kesme hizini (Vc) 1000 ile carpip 3.14'e
bélmeliyiz. Cikan degeri matkap capina bdlmeliyiz. ORNEK : Malzememiz takim ve imalat celigi (3. grup), matkap capi 25 mm
kesme hizi 170 ise 170x1000=170000/3.14=54140, 54140/25=2166 devir cikar (Tezgahin is Mili Devri). Tezgahin iler-
lemesi kullanacaginiz uc ile de alakali olup 0.05 ile 0.10 arasinda degisim gosterir. Kullanici kesici ucun kesisine gére bunu
ayarlar.

(ISLEME MERKEZLERI iCIN LERLEME HESABL:
Yukaridaki hesaplamalarla bulmus oldugunuz 2166 is mili devrini, kesici ug ilerlemesi (mm/devir) 0.05 ile 0.10 ara-

sindaki ilerleme secenekleri ile carpilir. ORNEK 1 : 2166x0.05=108 ORNEK 2 : 2116x0.10=217 cikan sonuclar 108 ve

217 isleme merkezleri icin ilerleme mm/dakika hesabidir.

Not: D4 ve (zeri takma u¢lu matkaplarda tezgahin icten su verme basincinin en az 6 bar olmasi gerekmektedir.

Before connecting your U-Drill to CNC lathe, you have to check if the turret is eccentric from the center or not. If
there is any eccentricity in your turret, never use your U-Drill;
Processes that should be done to fix the turret :

1. A cylindirical part whose surface is precision and whose length and diameter is the same with the U-Drill that you
will use, should be mounted to the holder of turret and X value of the lathe should be brought to zero (0).

2. Comparator should be mounted to chuck. The end of the comparator should be contacted ( touched ) to the sur-
face of the part that we mounted on the turret.

3. The comparator that we mounted on the chuck should be turned 360-degree with the chuck and turret should be
zeroed by that turning according to changing rate of comparator.

Grup No. Material Material Type Cutting Speed Vc ( m/m)
1 Non-alloy steel and free cutting steel || C1010. Automat etc. 220
2 Low alloy steel and cast steel (C1030-106 etc. 200
3 Alloy steel and tool steel CK-45, 4140, 7131 etc. 170
4 Hot Work Steel and Stainless Steel Impax etc. 150

P.S.: The cutting speed may be concerned with the type of the insert that you use.
Fistly, choose the material to make calculation of revolution. You should multiply the cutting speed (Vc) of the material that you chose by 1000 and divide
by 3.14. You should divide the value that you found by the diameter of U-Drill. For Example : If our material is alloy steel and tool steel ( 3rd group ), diame-
ter of the U-Drill is 25 mm, cutting speed is 170, we should calculate as following; 170x1000=170000/3.14=54140, 54140/25=2166 rpm is the result
that we found ( Spindle Speed ) Feed rate of the lathe is concerned with the U-Drill that you will use and changes between 0.05 and 0.10. The user sets it
according to cut of cutting insert.

2166 spindle speed, that we found as a result of above mentioned calculation, should be mutiplied by cutting
insert feed ( mm/r ) between 0.05 and 0.10 feed choisses. Example 1 : 2166x0.05=108
Example 2:2116x0.10=217 The results 108 and 217 are the feed mm/m calculation for central machine.
Note: Cooling water pressure of lathe must be minimum 6 bar for our D4 u-drills and u-dirlls longer than D4.
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